2PA2-J

E—EIVUTA4VYT RLIE

. N 77w MiE 8.8 MILY ¥ufE 10.9 kLY (i
K Mo 2 B R BiE | R e
[mm] [Nm] [In-lbs] [Nm] [In-lbs]
M3 x 0.5P 2.5 1.3 12 1.8 16
M4 x 0.7P 3 3 27 4.1 37
M5 x 0.8P 4 6.1 55 8.2 73
M6 x 1P 5 11 o8 14 124
M8 x 1.25P 6 25 222 34 302
E—REHEMDY A R EBERRT S, R R—DTSTERYNT, M10 x1.5P 8 49 434 67 594
BRI EEENNTT S, 5 1y bAS—EEILT TSI DRERIVIAY REEDES, M12 x 1.75P 10 85 753 116 1028
(KE—5 — BN MR HEBANMOBISNE 1T )
M14 x 2P 12 137 1214 186 1648
M16 x 2P 14 210 1860 286 2534

Table2 Yy bAS—FRILE FILDE

E—42YvTk . . _ _ .
s . f AL A X 72 MiF NIV B
FF7RY Y RHA X [ERES ’ i Hifm
. [mm] [mm] [mm] [Nm] [In-lbs]
E—2DF—F2A4TDFE. F— 5 3 L .
EEUNT =) yiELt»mU‘j‘*ﬁlf E—2Uv T O AR ERIEL DETHNIE ADO047 1 Stage 11 M3 x 0.5P x 8L 2.5 2.1 19
E—Z2DIv7T HH%?;@E‘&?%%: A2k UL o R ALO070 2 stage 11 M3 x 0.5P x 8L 25 21 19
JLy D3 DDORREIERICR I BT
533N B, Ly b OZ—ZHHBR 1 stage 14 M4 x 0.7P x 12L 3 4.9 44
Z AD064
V& F5EmE ék ALO095
ICEEICT S, 7 2 stage 11 M3 x 0.5P x 8L 2.5 2.1 19
Ap \\\“\\! ADO090 1 stage 19 M5 x 0.8P x 14L 4 9.8 87
i
,)/&}\““&/ i""’ ALTI0 2 stage 14 M4 x 0.7P x 12L 3 4.9 44
a4 n
| ///' AD110 1 stage 32 M6 x 1P x 16L 5 17 151
\ KEDLSCE—5 EBBIE LT ALT50 2 stage 19 M5 x 0.8P x 14L 4 9.8 87
: BRUFFIFTSEZ,
RIVFAVIRIVE (T v —EEE) B SREBD5% T L MVILYFEENREBO ML TRy M AS— DRIV E AD140 1 stage 38 M8 x 1.25P x 20L ° 4 364
LV F%EELD, 1~AD|EE THEDS, (VI3 Table 1) B8 DB, (~ILY3K Table 2) B8 AL190 2 stage 32 M6 x 1P x 16L 5 17 151
AD200 1 stage 48 M10 x 1.5P x 25L 8 80 709
AL230 2 stage 38 M8 x 1.25P x 20L 6 41 364
AD255 1 stage 55 M12 x 1.75P x 30L 10 139 1232
AL280 2 stage 48 M10 x 1.5P x 25L 8 80 709
s R—IT 4T MVORER, LREEEZRNMEEL. RAMEI LEREBEDI120%6UTEL TS,
S, Tel : (+81)092-451-1202 / Fax: (+81)092-451-1106
MULOL Y FHEEVSREED VI TI~AD|EBTI T T4 e g% APEX DYNAMICS, INC. E-Mail : sales@apexdyna.jp / Web : www.apexdyna.jp
yﬁ‘j—:;bb%ﬁ%%o (I\}lj7§ Table 1)%[&6\ 77 m}{q j‘%o AR RSN EEEE AR LR EE LR AR AR AN NN RN NN RN EE AR AR AL RN

APEX-2010-02-E

— APEX 197 — — APEX 198 —



